## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 1
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 20, 2024
LIA ENGINEERING, INC.
A. GUIJOSA
DECEMBER 20, 2024

0074-4011 (9.2)

BIDDER NAME	BASE BID
1) DURWOOD GREENE CONSTRUCTION CO.	\$784,281.00
2) BEYER CONSTRUCTION, LLC	\$793,894.00
3) DACO PAVING, INC.	\$807,000.00
4) HCG	\$852,425.40
5) R CONSTRUCTION CIVIL, LLC	\$930,522.50

CALENDAR DAYS 30/45

f Wilson

I, Kirsten K. Wilson, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 1 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 20, 2024

1) DURWOOD GREENE CONSTRUCTION CO 2) REVER CONSTRUCTION LLC

3) DACO PAVING INC

LIA ENGINEERING, INC. A. GUIJOSA DECEMBER 20, 2024 0074-4011 (9.2)

			1) DURWOOD GREEI	NE CONSTRUCTION CO.	2) BEYER CONSTRUCTION, LLC		3) DACO PAVING, INC.		4) HCG	
NO. ITEM DESCRIPTION	UNI	т ОТУ	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING ITEMS 1. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10306	\$50.00	\$515,300.00	\$52.25	\$538,488.50	\$48.50	\$499,841.00	\$47.00	\$484,382.00
2. 6" LIME/FLY ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	10969	\$3.50	\$38,391.50	\$3.50	\$38,391.50	\$3.50	\$38,391.50	\$4.75	\$52,102.75
<ol> <li>HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION I WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND AF GEOTECHNICAL ENGINEER), COMPLETE IN PLACE</li> </ol>		109	\$380.00	\$41,420.00	\$325.00	\$35,425.00	\$375.00	\$40,875.00	\$369.00	\$40,221.00
<ol> <li>FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGH (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTE: ENGINEER), COMPLETE IN PLACE</li> </ol>		1 218	\$130.00	\$28,340.00	\$120.00	\$26,160.00	\$155.00	\$33,790.00	\$132.00	\$28,776.00
5. 2' SAWCUT EXISTING ROAD AND CONNECT PROPOSED PAVEME COMPLETE IN PLACE	NT, LF	145	\$30.00	\$4,350.00	\$15.00	\$2,175.00	\$15.00	\$2,175.00	\$18.00	\$2,610.00
6. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3923	\$3.75	\$14,711.25	\$5.00	\$19,615.00	\$4.25	\$16,672.75	\$4.20	\$16,476.60
7. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1847	\$3.75	\$6,926.25	\$5.00	\$9,235.00	\$4.25	\$7,849.75	\$4.20	\$7,757.40
<ol> <li>REMOVE AND DISPOSE EXISTING 6" CONCRETE PAVEMENT, SUI CURB (ENSURE PROPER DRAINAGE) WITH 2' FULL DEPTH SAWC CONNECT TO EXISTING PAVEMENT, COMPLETE IN PLACE</li> </ol>		115	\$180.00	\$20,700.00	\$30.00	\$3,450.00	\$90.00	\$10,350.00	\$35.85	\$4,122.75
9. ROADWAY EXCAVATION, COMPLETE IN PLACE	CY	2700	\$5.00	\$13,500.00	\$8.40	\$22,680.00	\$9.25	\$24,975.00	\$5.00	\$13,500.00
10. ROADWAY EMBANKMENT, COMPLETE IN PLACE	СҮ	180	\$5.00	\$900.00	\$5.50	\$990.00	\$9.00	\$1,620.00	\$5.00	\$900.00
11. CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	D EXISTING EA	1	\$1,500.00	\$1,500.00	\$650.00	\$650.00	\$350.00	\$350.00	\$1,825.00	\$1,825.00
12. REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICA COMPLETE IN PLACE	DE, EA	1	\$10.00	\$10.00	\$50.00	\$50.00	\$1.00	\$1.00	\$200.00	\$200.00
13. COMPLETE LOT GRADING (LOTS, RESERVES, AND FINAL DRESSIN AREAS), INCLUDING STRIPPING AND PROOF ROLLING, HAULING PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACED STRIPPINGS, COMPLETE IN PLACE	,	1	\$20,000.00	\$20,000.00	\$31,800.00	\$31,800.00	\$25,377.00	\$25,377.00	\$29,000.00	\$29,000.00
14. REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	56	\$12.00	\$672.00	\$25.00	\$1,400.00	\$18.00	\$1,008.00	\$24.00	\$1,344.00
15. 6" CEMENT STABILIZED SAND SUBGRADE, (2.5 SACKS PER CY), C PLACE	OMPLETE IN CY	20	\$110.00	\$2,200.00	\$60.00	\$1,200.00	\$240.00	\$4,800.00	\$91.50	\$1,830.00
16. V-BOTTOM SWALE WITH 3:1 SIDE SLOPE ALONG SIDE LOT LINE, IN PLACE	COMPLETE EA	88	\$375.00	\$33,000.00	\$100.00	\$8,800.00	\$310.00	\$27,280.00	\$235.00	\$20,680.00
SUBTOTAL PAVING ITEMS	-	\$741,921.00	_	\$740,510.00	_	\$735,356.00	_	\$705,727.50		
MISCELLANEOUS ITEMS 1. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFI PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIA STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE		1	\$9,400.00	\$9,400.00	\$12,650.00	\$12,650.00	\$8,800.00	\$8,800.00	\$7,895.00	\$7,895.00
<ol><li>TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE E OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCL INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN I</li></ol>	UDES	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00	\$880.00	\$880.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 1 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477

**DECEMBER 20, 2024** LJA ENGINEERING, INC. A. GUIJOSA



			1) DURWOOD GREENE CONSTRUCTION CO. 2) BEYER CONSTRUCTION, LLC		3) DACO PAVING, INC.		4) HCG			
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
MAINTENANCE AND REMOVAL UPON COMPLETION OF STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,650.00	\$1,650.00	\$1,500.00	\$1,500.00	\$1,055.00	\$1,055.00
<ol> <li>CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENAN AND REMOVAL, COMPLETE IN PLACE</li> </ol>	NCE, EA	1	\$1,500.00	\$1,500.00	\$2,100.00	\$2,100.00	\$1,000.00	\$1,000.00	\$1,755.00	\$1,755.00
5. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING GENERAL SOURCE CONTROLS, COMPLETE IN PLACE	ES LS	1	\$1,500.00	\$1,500.00	\$4,750.00	\$4,750.00	\$5,600.00	\$5,600.00	\$2,280.00	\$2,280.00
6. 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	8	\$20.00	\$160.00	\$8.00	\$64.00	\$18.00	\$144.00	\$17.55	\$140.40
7. ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	EA	10	\$1,600.00	\$16,000.00	\$1,325.00	\$13,250.00	\$1,450.00	\$14,500.00	\$1,990.00	\$19,900.00
8. REMOVE AND REPLACE EXISTING TYPE 7 ADA RAMPS, PER ADA RAMP DETAILS, INCLUDES BRICK PAVERS KEYSTONE CITY SCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED COMES (CHARCOAL COLO AS DETERMINED BY DETAILS COMPLETE IN PLACE		1	\$3,000.00	\$3,000.00	\$1,750.00	\$1,750.00	\$2,600.00	\$2,600.00	\$2,550.00	\$2,550.00
9. TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,450.00	\$1,450.00	\$1,450.00	\$1,450.00	\$2,045.00	\$2,045.00
10. EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED OF AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	ONLY CY	10	\$30.00	\$300.00	\$30.00	\$300.00	\$50.00	\$500.00	\$32.75	\$327.50
11. EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECT BY THE ENGINEER), COMPLETE IN PLACE	CTED LF	100	\$1.50	\$150.00	\$1.50	\$150.00	\$2.50	\$250.00	\$3.20	\$320.00
12. EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$200.00	\$200.00	\$1,200.00	\$1,200.00	\$2,150.00	\$2,150.00	\$2,850.00	\$2,850.00
13. EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$50.00	\$50.00	\$250.00	\$250.00	\$1,200.00	\$1,200.00	\$1,050.00	\$1,050.00
14. EXTRA FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGH 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	T, TON	10	\$40.00	\$400.00	\$124.00	\$1,240.00	\$130.00	\$1,300.00	\$132.00	\$1,320.00
<ol> <li>EXTRA HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION I LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE</li> </ol>		10	\$40.00	\$400.00	\$348.00	\$3,480.00	\$325.00	\$3,250.00	\$369.00	\$3,690.00
16. BROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE		14	\$50.00	\$700.00	\$250.00	\$3,500.00	\$1,300.00	\$18,200.00	\$5,535.00	\$77,490.00
<ol> <li>HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE</li> </ol>	O AC	3	\$200.00	\$600.00	\$1,200.00	\$3,600.00	\$2,600.00	\$7,800.00	\$7,050.00	\$21,150.00
SUBTOTAL MISCELLANEOUS ITEMS BID SUMMARY			<u>-</u>	\$42,360.00	<u>-</u>	\$53,384.00		\$71,644.00	_	\$146,697.90
PAVING ITEMS				\$741,921.00		\$740,510.00		\$735,356.00		\$705,727.50
MISCELLANEOUS ITEMS				\$42,360.00		\$53,384.00		\$71,644.00		\$146,697.90
TOTAL AMOUNT BASE BID				\$784,281.00		\$793,894.00		\$807,000.00		\$852,425.40

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 1
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 20, 2024
LIA ENGINEERING, INC.
A. GUIJOSA
DECEMBER 20, 2024

5) R CONSTRUCTION	CIVIL, LLC
-------------------	------------

0074-4011 (9.2)

NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
PAVING 1.	ITEMS 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10306	\$61.00	\$628,666.00
2.	6" LIME/FLY ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	10969	\$5.00	\$54,845.00
3.	HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	109	\$400.00	\$43,600.00
4.	FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	218	\$165.00	\$35,970.00
5.	2' SAWCUT EXISTING ROAD AND CONNECT PROPOSED PAVEMENT, COMPLETE IN PLACE	LF	145	\$52.00	\$7,540.00
6.	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3923	\$4.25	\$16,672.75
7.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1847	\$4.25	\$7,849.75
8.	REMOVE AND DISPOSE EXISTING 6" CONCRETE PAVEMENT, SUBGRADE AND CURB (ENSURE PROPER DRAINAGE) WITH 2' FULL DEPTH SAWCUT TO CONNECT TO EXISTING PAVEMENT, COMPLETE IN PLACE	SY	115	\$40.00	\$4,600.00
9.	ROADWAY EXCAVATION, COMPLETE IN PLACE	CY	2700	\$6.75	\$18,225.00
10.	ROADWAY EMBANKMENT, COMPLETE IN PLACE	CY	180	\$6.00	\$1,080.00
11.	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	EA	1	\$2,900.00	\$2,900.00
12.	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00
13.	COMPLETE LOT GRADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL AREAS), INCLUDING STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$22,500.00	\$22,500.00
14.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	56	\$27.00	\$1,512.00
15.	$6\ensuremath{^{\circ}}$ CEMENT STABILIZED SAND SUBGRADE, (2.5 SACKS PER CY), COMPLETE IN PLACE	CY	20	\$65.00	\$1,300.00
16.	V-BOTTOM SWALE WITH 3:1 SIDE SLOPE ALONG SIDE LOT LINE, COMPLETE IN PLACE	EA	88	\$165.00	\$14,520.00
SUBTOT	AL PAVING ITEMS				\$861,781.50
	ANEOUS ITEMS PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$6,800.00	\$6,800.00
2.	TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$1.00	\$1.00

## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

TOTAL AMOUNT BASE BID

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE HOCKLEY MEADOWS SECTION 1
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

DECEMBER 20, 2024 LJA ENGINEERING, INC. A. GUIJOSA

DECEMBER 20, 2024 0074-4011 (9.2)

			_		
				5) R CONSTRUC	TION CIVIL, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
3.	MAINTENANCE AND REMOVAL UPON COMPLETION OF STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00
4.	CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00
5.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS, COMPLETE IN PLACE	LS	1	\$1,400.00	\$1,400.00
6.	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	8	\$15.00	\$120.00
7.	ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	EA	10	\$3,000.00	\$30,000.00
8.	REMOVE AND REPLACE EXISTING TYPE 7 ADA RAMPS, PER ADA RAMP DETAILS, INCLUDES BRICK PAVERS KEYSTONE CITY SCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED COMES (CHARCOAL COLOR OR AS DETERMINED BY DETAILS COMPLETE IN PLACE	EA	1	\$5,400.00	\$5,400.00
9.	TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00
10.	EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$22.00	\$220.00
11.	EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00
12.	EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00
13.	EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$650.00	\$650.00
14.	EXTRA FLY-ASH FOR 6" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$165.00	\$1,650.00
15.	EXTRA HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	10	\$400.00	\$4,000.00
16.	BROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	14	\$650.00	\$9,100.00
17.	HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	3	\$1,500.00	\$4,500.00
SUBTOT	AL MISCELLANEOUS ITEMS			_	\$68,741.00
BID SUN	IMARY				
PAVING	ITEMS				\$861,781.50
MISCELL	ANEOUS ITEMS				\$68,741.00

\$930,522.50